BIONHO] V'O Jpodusirernuey], M A 000 2Loged HOHLOWI-OHLYO0dU OU dOHIMHH (9LBLUHIOLD

BAONIOA] V'V i  godiotreruued], A OO0 doLreIXAQ HIGHERI |
_.anu,v s
a0M04Ad " 1'd  yodrorreruuey, M A 000 dorxodur iaHaredoHs |
6L°60L £1- 89°V1L 061 00918 ol €8°6L9 € 00°886 9 S0°00L Tl 8L°198 0s'¢eT Ll €8 €SI 91 Aou
ol €8°6L9 ¢ 00°0C8 | 00T € 00°9¥¢ 01 S0°90€ 0T 97°886 11°S9L 61 ¢8°ccl 91 KOH
ot €8°6L9 ¢ 00°9t¢ 01 S0°THT SI pS LSO | ¥80SI 1T €8'eci 91 o
00°188 wolet £8°6L9 ¢ 00'9¢k € 00°€LE6 0T 9p'®I|  S0°9LS 81 8°cv6 9¢°9L8 81 S8°€S1 91 195
ol £8°6L9 € 00°v0L 1 00°TEL € 00°6T¢ | 00 1LL Ol 0L'#]  S0'891 €T 08998 V6 SEE LI S8°€SI 91 198
wolcl €8°6L9 ¢ 00°L99 | 00°9r¢ 01 [s® 50606 91 0€°vT8 S0'98y 91 S8°ESI 91 1rom
00908 99°CTI | SE0EY € 00°9¥€ 01 10°60L S1 ledel 179ty vi pSTE60 Si HOW
99°CTI 1 SEoEr ¢ 00°ZEL S 00°9¢ 01 10°1£0 0T £6'vTL 19861 vl ¥5°€60 Sl wew
99°cel | SE0EY € 007550 6 10°809 €1 80°0TL 910y vl #S°€60 S1 dire
00°188 99°TTI 1 SE'0Er € : 00°PS8 L 10°88T €1 WL L8 8T VSL Sl ¥$°€60 Sl dei
99°TTl | SE0EY € 00°Sv6 1 00°LYS L 10°S¥0 ¥1 79°€06 1€°2L0 81 ¥S°€60 SI o
99°CTl | SE0EY € 00°€61 S 10°9%L 6 (19749 ¥9'06v 01 ¥S€60 S1 aHE
9T'¥S6 8- S1°6S6 S81- | 00°V8€ € STELo vl 80°199 T¥ 00°S9L € 00°¥T € 00°L6L9 | 00°¥9T 01 00°6Z¢€ 1 00°168 LOI £EVLE €61 L9VT6 6 Ly €6y 861 | VEVSY L8]
= w p=] 3 @ — < p @ == 5 M
s | £889| £8 1Y = s | 8¢ 5 i35 | 28% 7 3T g g 5 S
o e0@e | 30 4 sz5% 3 e 3 & g egze | 8% ¢ z g g 3 5 3 E
ES o a - 0 @ .l = i = 55 = i £ T o
fe jeocEl Bl 2@ | EREE g 2IEET E | 8doE | E53 E g g 3 g 5
=g ESFE g B O 5¢ Sl A g S & & B g EQS ELE B 5 g g 8 &
5 @ Sl I g = ?53s E = & & i E B X E g o o & = 3 < 8
g g £ oo o e 3 i s BB = .2 (] 2 8 .3 E 8 5 = = g = 5
i = EEas g 8 o SEE¢ 2 8 EE 3z 3 ESEB g3z e g ¥ = £
£ =2 3 8 | 5223 5 SEE | T 8 | &538 | 588 5 > 8 B 3
B £ 2H= 2 < s52¢ < RN g g sg: | £33 g 3 >
e 8= 8 £ EEE= ) BB s Bl = g : E i
g o 2 00 =] 2 3 = o g = R = 89 Z n = g w
£3 glo=s = 3 S$g 2 £ 2238 £Eg R 8 g ES
5 & W 3 % g8 2 2 338 xH 28 5.8 =
5 8 o 3 ° 2 E = H S 2 E=5 U] =
T o = = B B S W X @ = 2 E @
g 3 2 e 5 EE X R Z s g
H e = =4 zZ & 5 = sm m
J o
N OIMHYXdAI0D O ¢-031 “$ ou L09vd XIGHHAHIOLI9E MMDThULAVE 197U ‘

W G'BLLE - BWOQ S BBLNX/, W 9'8EKE - BWOP S BEMYQ "2 §L02°¥0°L0 Wo dosozoly
‘AI701 9102 9 VITHO® OJOHITINLMM OIMHYKdIT0D oL
BYNOd3ALXYM 3FNLA OL 89 6N WO WOHIULdVYENOJIOHIW 8 LO09Yd XIFHHIHLOUIFE UNDTRULAY® LIhA UMNOIThULULIVHY "




